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(A)122.75 (B) 142.25 (C)177.50 (D) 429.25 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

Q.1:- 722 ̶ 153 = ?% of 400  
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(A) 81.22 (B) 74.72 (C)89.92 (D) 63.82 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

Q.2:- 26 + 38.92 + 15 = ? ̶ 10
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(A) 7582 (B)7406 (C)7206 (D)7502 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

Q.3:- 1800 + 1801+ 1802 + 1803 = ?
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(A)17.2 (B)19.5 (C) 18.1 (D)19.1 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

Q.4:- 𝟏𝟔𝟏.𝟏 × 𝟖𝟐.𝟕 × 𝟒𝟑.𝟑 = 𝟐?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)488.08 (B)492.08 (C)500.08 (D)400.08 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

Q.5:- 18.5% of 880 + 12.4% of 2720 = ?
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(A) 39.625 (B) 38.625 (C) 37.625 (D) 36.625 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

Q.6:- 5072÷ 𝟏𝟔 ÷ 𝟖 = ?
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(A)14 (B) 12 (C) 19 (D) 9 (E) 11

E04613

What value should come in the place of question mark(?)in the following questions?

Q.7:-
𝟒
𝟏𝟒𝟔𝟒𝟏
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(A)5668.34 (B)5648.74 (C)5468.34 (D)5448.74 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

Q.8:- 5688.21− 27.54− 11.93 = ?
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(A) 336 (B) 326 (C) 386 (D)376 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

Q.9:-
𝟑
𝟏𝟗𝟔𝟖𝟑 +

𝟑
𝟐𝟏𝟗𝟓𝟐 +

𝟑
𝟐𝟒𝟑𝟖𝟗 =

?

𝟒
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(A)6942 (B)6548 (C)6947 (D)6588 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

Q.10:- 44% of 1550 + 47² + 6× 26² = ?
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Direction (16–20): In each question two equations numbered (I) and (II) are given. You 
have to solve both the equations and mark appropriate answer.

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y
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Q.16 :- I. 𝒙𝟒 = 65536                           II.  y = 
𝟑
𝟒𝟎𝟗𝟔

Q.17 :- I. 6x2 − 7x +1 = 0 II. y2−𝟐y + 1 =0

Q.18 :- I. x2−𝟗 =0 II. y2 + 10y+ 25 =0

Q.19 :- I. 2x2 − 3x + 1= 0 II. 15y2 −16𝑦 +4 = 0

Q.20 :- I. x2 +10 x +21 =0 II. y2 −2y − 8= 0

E04613
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What should come at place of the question mark (?) in the following number series ?

Q.26:- 32  ,  61 ,  119 , 206 , 322 , ?

(A) 467 (B) 408 (C)422 (D) 496 (E)512

E04613
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What should come at place of the question mark (?) in the following number series ?

Q.27:- 16 , 33 , 100.5 , 505 , 3538.5 , ?

(A)38929 (B)32343 (C)23543 (D)31245 (E)35380

E04613
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What should come at place of the question mark (?) in the following number series ?

Q.28:- 12  ,  7 ,  9 ,  22 , 96 , ?  

(A)754 (B)784 (C) 794 (D)734 (E)744

E04613
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What should come at place of the question mark (?) in the following number series ?

Q.29:- 151 , ? ,   22 ,   8 ,   8 ,   6

(A)43 (B)42 (C)44 (D)47 (E)48

E04613
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What should come at place of the question mark (?) in the following number series ?

Q.30:- 2 , 2 , 7 , ? , 87 , 342

(A)21 (B)26 (C) 23 (D) 24 (E)22

E04613
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(A) 1160 (B) 1195 (C) 1200 (D)1220 (E) None of these

Q.11:- 6% more is gained by selling a coat for Rs. 1425 than by selling it for Rs. 1353. The 
cost price of the coat is –

एककोटको 1425 रुपये में बेचने पर उसे 1353 रुपये में बेचने से 6% अधिकप्राप्तहोता है, कोट
कालागत मूल्य है –

E04613
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(A) B (B) A (C) B and C (D) Data inadequate (E) C

Q.12:- A and B can do a piece of work in 8 hours; B and C can do it in 9 hours, A and C can do it in 
6 hours. Who among these will take the highest time if put to do it alone? 
A और B एककायय को 8 घंटे में कर सकते हैं; बीऔर सी इसे 9 घंटे में कर सकते हैं, एऔर सी
इसे 6 घंटे में कर सकते हैं। इनमें से कौन सबसे अधिक समय लेगा यधि इसे अकेले करने के धलए
कहा जाए?

E04613
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(A) 3km (B)3.6km (C)4km (D)4.8km (E) 5km

Q.13:- A man can row 5kmph in still water. If the river is running at 1kmph, it makes him 75minutes 
to row to a place and back. How far is the place?

एकआिमी शांत पानी में 5 धकमी प्रधत घंटे की रफ्तार से िौड़ सकता है। यधि निी 1 धकमी प्रधत
घंटे की गधत से चल रही है, तो उसे एक स्थान पर जाने और वापसजाने में 75 धमनट लगते हैं।
जगह धकतनी िूर है?

E04613
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(A) 55km/h (B) 57km/h (C)63km/h (D)60km/h (E) None of these

E04613

Q.13:- A person sitting on train and counts 21 poles in a minute. If distance between each 
pole is 50m, then what is the speed of the train.

एकव्यक्तिटर ेन में बैठा है और एक धमनटमें 21 खमे्भ धगनता है। यधि प्रते्यकखमे्भ
के बीचकी िूरी 50 मीटर है, तो टर ेन की गधतक्या है।
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(A)2 : 3 (B)3:2 (C) 3:4 (D) 4:3 (E)None of these

Q.15:- A truck covers a distance of 1100 meters in 2 minute whereas a bus covers a distance 
of 66 kms in 90 minutes. The ratio of their speeds is:

एक टरक 2 धमनट में 1100 मीटरकी िूरी तयकरता है जबधक एकबस 90 धमनट में
66 धकमीकी िूरी तयकरती है। उनकी गधतका अनुपात है:

E04613
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(A)12 years (B)16years (C)20years (D)26years (E) 32years

Q.21:- Sachin was twice as old as Ajay 10 years ago. What is Ajay's present age if Sachin 
will be 40 years old 10 years hence?

10 वर्य पहले सधचनकीआयु अजय से िुगनी थी। यधि सधचन 10 वर्य बाि 40 वर्य का होगा तो
अजयकी वतयमानआयुक्या है?

E04613
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(A) 25 (B)21 (C)35 (D)28 (E) CND

Q.22:- There are five times the number of ducks as there are hens. The number of ostriches are 
equal to the number of ducks. Find the average number of birds?

मुधगययो ं की तुलना में बत्तखो ंकी संख्या पांच गुना है। शुतुरमुगों की संख्या बत्तखोंकी संख्या के
बराबर होती है। पधियो ं कीऔसत संख्या ज्ञात कीधजए?

E04613
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(A) 4.8 (B) 5.2 (C)6.4 (D)3.8 (E) None of these

Q.23:- A 24 litres of milk and water mixture contains milk and water in the ratio 3 : 5. What litres of 
the mixture should be taken out and replaced with pure milk so that the final mixture contains milk 
and water in equal proportions?
एक 24 लीटर िूिऔर पानी के धमश्रण में िूिऔर पानी का अनुपात 3 : 5 है। धमश्रण में से धकतने
लीटर धमश्रणको धनकालकर शुद्ध िूि से बिल िेना चाधहए ताधक अंधतम धमश्रण में िूिऔर पानी
समान अनुपात में हो?

E04613
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(A)4835.4 (B)5234.6 (C)5624.6 (D)5825.6 (E) None of these

Q.24:- Avinash saves an amount of 1600 every year and then lent that amount at an interest 
of 10 percent compounded annually. Find the amount after 3 years.

अधवनाशप्रधत वर्य 1600 की राधश बचाता हैऔर धिर उस राधशको 10 प्रधतशत वाधर्यक चक्रवृक्तद्ध
ब्याजपर उिार िेता है। 3 वर्य बाि राधश ज्ञातकीधजए।

E04613
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(A)524 (B)576 (C) 625 (D)2880 (E)None of these

Q.25:- In how many different ways the letters of the word OUTSIDE be arranged in such a 
way that all vowels always come together? 

OUTSIDE शब्दके अिरो ंको धकतने अलग-अलगतरीको ं से इस तरहव्यवक्तस्थत धकया जाता है
धकसभीस्वर हमेशा एकसाथआते हैं?

E04613
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Q.(31 to 35):- Direction for Question
In the bar chart information about monthly expenses (in Rs) of 3 persons on various things 
has been given. Study the data carefully and answer the questions given below. 
प्रश्न के धलए धनिेश
बार चाटय में धवधभन्नचीजो ं पर 3 व्यक्तियों के माधसकखचय (रुपये में) कीजानकारी िी गई है। डेटा
काध्यानपूवयकअध्ययनकरें और नीचे धिए गए प्रश्नो ं के उत्तर िें।

E04613
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(A) 184.70% (B) 284.70% (C)384.70% (D)84.70% (E)None of these

Q.31:- Total expenditure on rent by all the persons together is what percent of expenditure of 
Ankur on savings?

सभीव्यक्तियोंद्वारा धकराए पर कुलव्यय, बचत पर अंकुर केव्ययका धकतना प्रधतशत है?

E04613
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(A)250 (B) 350 (C)200 (D) 150 (E)None of these

Q.32:- What is difference between the expenditure of Abhay on medicals and the 
expenditure of Sudhir on education?

धचधकत्सा परअभय केव्ययऔर धशिा पर सुिीर के व्यय के बीच धकतना अंतर है?

E04613
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(A) 4366.67 (B)4466.78 (C)4565.87 (D)4366.34 (E)None of these

Q.33:- What is the average expenditure of Ankur on education, rent and savings?

अंकुरका धशिा, धकरायाऔर बचतपरऔसतव्यय धकतना है?

E04613
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(A)7:6 (B) 84:85 (C)6:7 (D)85:84 (E)None of these

Q.34:- What is the respective ratio between the expenditure of Sudhir on food and the 
expenditure of Ankur on medicals?
भोजनपर सुधीर केव्ययऔर चिचकत्सा पर अंकुर केव्यय के बीि संबंचधतअनुपातक्या है?

E04613
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Directions Q.(36 to 39):- Direction for Question
Study the graph given below carefully and answer the questions.
Line - graph given below shows the flour sold by five stores of two types i.e. multigrain and 
whole-wheat (in kg). 
प्रश्न के धलए धनिेश
नीचे धिए गए ग्रािकाध्यानपूवयकअध्ययनकरें और प्रश्नो ं के उत्तर िें।
नीचे धिया गया लाइन-ग्राि िो प्रकार के पांचस्टोरो ं यानी मल्टीगे्रनऔर होल-व्हीट (धकलो में) द्वारा
बेचे गएआटे को िशायता है।
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(A)1.5% less (B)1.5%more (C) 2.5%more (D) 2.5%less (E)None of these

Q.36:- The total flour sold from store C is how much % less / more than the total flour sold 
from store E ? (approx)

स्टोरC से बेचा गया कुलआटा, स्टोरE से बेचे गए कुलआटे से धकतना% कम/अधिक है? 
(लगभग)

E04613
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(A) 1: 3 (B) 1:1 (C) 3:1 (D) 2:3 (E) None of these

Q.37:- What is the ratio of sold of multigrain by store A and D together to sold of whole 
wheat by store A and E together?
स्टोरA औरD द्वारा धमलाकर बेचे गए मल्टीगे्रनकास्टोरA और E द्वारा धमलाकर बेचे गए गेहं से
अनुपात धकतना है?

86
82

76

64

54

70
66

56
48

80

0

10

20

30

40

50

60

70

80

90

100

A B C D E

Multigrains Whole - Wheat

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A) 106% (B)116% (C)146% (D)160% (E)None of these

Q.38:- Multigrain sold by store A and B together is how much % of Whole-wheat sold by 
store C and D together? (approx)
स्टोरA और B द्वारा धमलाकर बेचा गया मल्टीगे्रन, स्टोरC औरD द्वारा धमलाकर बेचे गए साबुत
गेहं का धकतना% है? (लगभग)

86
82

76

64

54

70
66

56
48

80

0

10

20

30

40

50

60

70

80

90

100

A B C D E

Multigrains Whole - Wheat

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A) 5.4kg (B)9.4kg (C)8.4kg (D)10.4kg (E)None of these

Q.39:- What is the difference between the average of multigrain by including all the stores 
and the average of whole - wheat by including all the stores?
सभी िुकानो ंको शाधमलकरके मल्टीगे्रन केऔसतऔरसभीस्टोरो ंको धमलाकर पूरे गेहं के
औसत के बीचका अंतर धकतना है?
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